[image: image1.png]The daily yield for a local chemical plant has averaged 880 tons for the last several years. The
quality control manager would like to know whether this average has changed in recent months.
She randomly selects 50 days from the computer database and computes the average and standard

deviation of the =50 yields as X =871 tonsand §=21 tons, respectively. Test the
appropriate hypothesis using o= 0.05.

A study of report writing by engineers is conducted. A scale that measures the intelligibility of
engineers” English is devised. This scale, called an index of confusion. is devised so that low
scores indicate high readability. The data shown below are obtained on articles randomly
selected from engineering journals and from unpublished reports written in 1979:

Journals: {1.79, 1.81, 1.62, 1.96, 1.75, 1.74,2.06, 1.69, 1.67, 1.94, 1.33, 1.70, 1.65}.
Unpublished Reports: {2.39, 2.56, 2.36,2.62,2.51,2.29, 2.58,2.41,2.86,2.49,2.33, 1.94, 2.14}.

Test Hy: 0‘12 =07 at =020 level to be sure that pooling is appropriate.
Does there appear to be a difference between g and 4>?




